CHAPTER 20 PROBE QUESTIONS:
-P.334

1. -What are the Dual-functions of a stimulus in a behavioral chain? 
· It functions as a learned reinforcer for the response that produces it and an SD for the next response in the chain.

· The reinforcer at the end of the final link in the chain will often be an unlearned reinforcer and may not serve as an SD

-P.339

2. -What is DRL?

· Reinforce response that occurs at low rate (at least some minimal amount of time has elapsed since the last response)

· It’s not the behavior itself that’s undesirable, it’s the rate of the behavior
· Often can either eliminate a chain or control its rate by dealing with the first links- if we can stop or slow down the first links, then the following links must also be stopped or slowed down

· Reduce Jimmy’s rate of picking up a spoonful of food and moving to his mouth

· Jimmy had to wait at least 2 secs. since his last bite before he attempted his next bite

· If he didn’t wait, move hand back to table and prevent reinforcement for that response

· Differentially reinforce lower rate of eating and differentially extinguish rapid eating

· Gradually increase “wait” requirement
- P.348

3. -What type of chain do we usually use when establishing a behavioral chain with a non-verbal animal?

· Backward chaining 
4. -How would you train backward chaining in the Skinner box?
· First establish the dipper click, than pressing the lever that, than pressing the lever in the presence of the light, and finally pulling a chain to have the light come on, than the response of pressing the lever will be reinforced with the dipper click

-P.351
5. -Can someone give an example DRL in the Skinner box: 
· Must pause for at least 10 seconds before response reinforced
6. -What happens to responses that occur immediately after Rudolph receives reinforcer-after last response (response with latency less than 10 seconds)? 
· They extinguish
7. -What happens to responses that occur with a latency of at least 10 seconds? 
· They become more frequent
-P.352
8. -Can someone explain DRL vs. FI chart?
9. -What happens if Rudolph never waits the required interval of time between responses when using DRL?  
· He never receives the reinforcer

· The interval resets after each occurrence of the response how ever with FI Rudolph can continue to respond as quickly and often as he would like to and still will be reinforced once the Fixed interval has passed
